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IMPROVEMENT / SUPPLEMENTARY EXAMINATION, OCTOBER 2022

Part — 111 Time : 2% Hours
ECONOMICS Cool-off time : 15 Minutes

Maximum : 80 Scores

~

General Instructions to Candidates :
® Thereisa ‘Cool-off time’ of 15 minutes in addition to the writing time.
® Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
® Read questions carefully before answering.
® Read the instructions carefully.
® (alculations, figures and graphs should be shown in the answer sheet itself.
® Malayalam version of the questions is also provided.
® Give equations wherever necessary.

® Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer any 10 questions from 1 to 12. Each carries 1 score. (10 x 1 =10)
Government’s taxation and public expenditure policies are collectively known as :

(a) Fiscal Policy (b) Monetary Policy

(¢) Income Policy (d) Employment Policy

The value of coefficient of correlation ranges :
(a) fromOtol (b) from-1tol
(¢) from-1to0 (d) from1to2

Which index number indicates the changes in the general price level ?
(a) Consumer Price Index (b) Wholesale Price Index

(¢) Agricultural Production Index (d) Industrial Production Index

First official census in India :
(a) 1965 (b) 1881
(c) 1901 (d) 1885

Which of the following is related to health sector in India ?
() NCERT (b) ICMR
(c) AICTE (d UGC

Which is the most frequently observed value in a series ?
(a) Mean (b) Median
(¢) Mode (d) Quartile

Who was the first to discuss the concept of poverty line in pre-independent India ?
(a) VKR.V.Rao (b) P.C. Mahalnobis
(c) Dadabhai Naoroji (d) Jawaharlal Nehru

Which of the following is ‘NOT’ included in Economic Infrastructure ?
(a) Education (b) Transport

(¢) Energy (d) Communication

FY-835 2



1 2)®@3 12 2190088 ¢ 1033803 ago®Blene 10 ag)gRaTlm 2OmOOAN®)d>.

1 avea0a3 afloo. (10 x 1 =10)
TLAGHIBOZ M@ A1YAITUD, Bald®Ea IOl af)aTAIWA0D] NINWHRF®IED

(a) wmmwo (b) atleMMO

(c) QE@IM Mo (d) o®I®3 Mo

VAOMIMW MBI A)elYo
(@) anmp MO 1 2166 (b) -1moad 1 aeo
() -1 om0 e d 1 o2 aeo

eacomalier alooowloe! 20Qo MV)a lafleeam aV)a la:0o :
(@) 2alcEIsmY allel aV)aa,

(b) emomailer qv)alle,

(©)  0BaHlEDH0WIa| MO TV)a 1>

(d) aipPaILOIVIEB:Ll aldBM AV)a

DI LI BIRYBIHBIH BDEBRUI B HAVABAVLAV MSANG
(a) 1965 (b) 1881
(c) 1901 (d) 1885

®OOYENHIS)ONG BRIV @B @1 COIW YEAGLIW)AIV] NIMLO|FD
(a) NCERT (b)y ICMR
(c) AICTE (d UGC

830) ¢UITIIVIT3 aBQaljo BH)S)M@ MALEM BRHAIBDTNENNSIAN M)ello
(a) m@owye (b) awsmo
(c) enIan)eIdo (d) 2100)BL0BeBUd

VIO Y 1)BQ BIOM@IIN@3 BIGI(3Y CGRE af)aN @IRYUIWo DWABITINEBHINEIAUMND
(a) afl.es.erd.all. ooay (b) all.ofl. @ao@dcmomilay’
(c) RoRIEI Malcnosd (d) =aa0Bedd HMa00)

®OYODHIS)OINFBH AU G3 TLINUBTD> A IR IIGDEI TVDHOIALIIBTD OB ?
(a) aflzyepavoe (b) v®In®O
(c) 9vd®zo (d) andomoalaiaw.
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

Which of the following is a conventional source of energy ?
(a) Coal (b) Wind
(¢) Solar (d) Tidal

Which of the following is an example for quantitative variable ?
(a) Intelligence (b) Honesty
(¢) Gender (d) Height

‘The Great Proletarian Cultural Revolution’ related to :
(a) India (b) Pakistan
(¢) China (d) Srilanka

A survey, which includes every element of the population is known as :

(a) Sample Survey (b) Census Survey
(¢) Economic Survey (d) None of these
Answer any 6 questions from 13 to 21. Each carries 2 scores. (6x2=12)

List any four steps towards making a project.

Compare chronological and spatial classification.

What do you mean by Formal Sector ? Give an example.

Write any two aims of WTO.

Calculate range :
20, 30, 40, 50, 100

Write any two advantages of Green Revolution.

Distinguish between Census Survey and Sample Survey.

Write any two uses of index numbers.

Write any two benefits of organic farming.
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12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

IO 6)30S)OTNFBR AV @3 2100MI0Y DVBVREA®IE) ?
(a) Ho3eeal (b) @09
(c) avvcoId220 (d) olonoel

®IOPEHHIS)TNG BB ARG aIGIDEMIGAB> 21ABTTIM OBIO0M6Mo
(a) enneul (b) av@iTLVIWD
(c) eflloneeso (d) 9woo

‘©@®0¢1108] MVAVEITH: flglale’ NINWEOQISIBlENIN®
(@) gnamy (b)  a18launod
(c) o8a1m (d wlem

avaquosileel (Population) 60600 HMEBNWo DUBOQ|S)OTNWBH TVBEAIWIEY
(a) avomilud avdeal (b)  eavadavav avdeal
(c) avomioBila, avdcal (d) ealewomm)ag)

13 2)®@3 21 OB ¢a10B8IEI 03 aBO@B LS 6 g FROTIM QOMOOHANLG) >

2 cmpod ail@o. (6x2=12)
B30) G I0RDHS GQI0INEMIND TVldGICHNME aBO@BIEN MILT MSalSIaud ellqy’
6)1210Q)).

LMV UG B06mMALe MOLl® AIBHIB06MALe @OO®AL 6a I ).
8Dala 0B HCAIL! af)INMEB3:06NE BIRYBGLONIGNANOBII) ? BO) DBIAOVNANLIE)M:.

WTO @)6s 0ne eIam|6oBUd af)$)®)d:.

GOGTOL 6N BHIBN) >
20, 30, 40, 50, 100

a0al®A g3 O6NE EMFEBUD af)9)@)d.
SAVMAVLAV TVAEAUW e MVIMIUB VB CAIBTIBILIID)B:.
NV} 21BHIEHEIBBIOS ONE DalCWINEIBUB af)OTNIOEHWIL).

62013 HWHS BNE TVAICUIEH BB B:.
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Answer any S questions from 22 to 28. Each carries 3 scores.

22.  Write a short note on Industrial Policy Resolution 1956 (IPR 1956).

23. Calculate Simple Aggregative Price Index :

Commodity | Price in Price in
1981 %) 1991 )
A 5 6
B 6 8
C 3 10
D 5 2

24. Table shows worker — population ratio in India. Write three inferences.

Sex Worker-Population Ratio
Total Rural Urban

Men 52.1 51.7 53.0
Women 16.5 17.5 14.2
Total 347 35.0 339

25. Mention the importance of Statistics in Economics.

26. Give any three advantages of Personal Interview.

(5x3=15)

27. The share of different sectors to GDP during 1990-91 is given below. Construct a Pie

diagram :
Sector Share (%)
Primary Sector 349
Secondary Sector 24.6
Tertiary Sector 40.5

28. Calculate Mean Deviation :
2.4,6,8
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22 2)®@3 28 Q100W)BH ¢23EBSEI03 aBO®BSIENC S af)INOTNM DCMOOA)®)d.
3 aved,0a8 allow.. (5x3=15)
22. 1956 ©e1 015001V B> MW ICAVWOTNENa] 30} LICLNDIOla] ®YI0IHN) .

23.  eaaiel aveail® alleiqv)alld: 3:emaeNILa D

UOWmMEB YD 1981 1991
ocl ailer oel ailel
(@) (@3a1)
A 5 6
B 6 8
C 3 10
D 5 2

24, enamyieel a@olengl — 2MAVoaIL @RMAIIMANT algldhXIE3 @G06MeNaN).
AN WINAMETBUB af) 9} M.

Eilovo | O@IYIEING] 2MAVoAIL BRM)a IO
@O | (Odo MNoo
al©puad | 52.1 51.7 53.0
vl 16.5 17.5 14.2
@O 34.7 35.0 33.9

25, VOMUEDI > VOOTV(@ BTG TVIEUBHBETNOAG (IOWIM o AV)a fla floe)d>.

26.  AlyGOIN® @1R)EMAIGTI G 2N CNFEOBUD af)$)@)d>.

27. 1990-91 a1Bauod® @BEJMO Oal|MoDicd ofloflw  caarIdges oflacleo
®IOPHBNIS)OTHBBNAN). HEAl WD(No AUOVEND:

caalel ailaol®o
(%)
(1010l caaIel 349
3ol casiel 24.6
@B caslel 40.5

28.  @owy aIy@IWIMo Bhane)allSlea)d :
2,4,6,8
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29.

30.

31.

32.

33.

34.

35.

Answer any 3 questions from 29 to 33. Each carries 4 scores. Bx4=12)
Illustrate the following ideas in Scatter diagram :

(a) Positive Correlation

(b) Negative Correlation

(c) Perfect Positive Correlation

(d) No Correlation

Write a short note on development strategy of China.

What do you mean by Agricultural Marketing ? Mention any three measures taken by

government to improve agricultural marketing.

Prepare a frequency distribution by exclusive method taking class interval of 5 from the

following data :
10, 17, 25, 22, 29, 9, 24, 20, 14, 15,
26,5,3,13,19, 23,12, 28, 13, 6,

25,17,21,7,8,23,21,7,11, 13

What were the main causes of India’s agricultural stagnation during the colonial period ?

Answer any 3 questions from 34 to 38. Each carries S scores. B x5=15)

Write a short note on Liberalisation adopted in Financial Sector reforms and tax

reforms.

Calculate Standard Deviation :

Values: |2 8 16 24 30

FY-835 8



29.

30.

31.

32.

33.

34.

35.

29 2)®@3 33 A1OOWBH G2 3RS0 aBO®BSIENC 3 af)INOTNM DOMOOA)®))d.
4 vea00 alloo. Bx4=12)

@06 60S)OTNEH9)AM @IRYUIWETBOB TVAIQA WD ETNE3 @RAITlaflae)d: |
(@)  canaiglai muaosniawo

(b)  emuglarvaosnimwe

(©)  9a1BanBS Gatomglal MaoenIMWo

(d) avaomITWo DL

0621MWOS ANlBHILM@OANIBAS B)T2] ©210)ANAICEMEONIE))M.

33BaHld> AflaleNMo af)M@)OBH06ME” @RAGNNISNMNHDAD ? 3Bl AfllaleMMo
0D2J0a]S)EMMM@IMIV]  waledeaad  alaclafldlemmm  epo@slene  man)
MSalSIBUB af)1@)d>.

@069 ©89IS)OTCIENN BEMEBSEE AN GOV sealg S’ @@l of)S)orY
af) SVl Sl@IWI@3 30} @RAIGDTI Al®OEMe GQI0ISND !

10, 17, 25, 22, 29, 9, 24, 20, 14, 15,

26,5, 3,13, 19, 23,12, 28, 13, 6,

25,17,21,7,8,23,21,7,11, 13

BBICBAMIWM BOTMBHILIBT NANLIOEI B3:0B0H] B> TVMoEMIAITLOWEMNSS (1WIM

BHOVEMEIBUB af)OAMEJ0 ?

34 )08 38 AHPWBH ¢21034EBSI08 aBO®BIENC 3 af)INOTNM DOMOOAI®)d.
5 aved,0a8 ailo.. (B x5=15)

wnooicaaieiden  daclcanieidel)e MSaflenesle  9BOEAIGBHOEM
MWD H9)0la| ©210)00I0Mo GIQIVILE)M:.

@M B @IoMo (Standard Deviation) 61ne)allSlee s :

Values: |2 8 16 24 30
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36. The following data shows the marks obtained by 50 students of a class in a test. Draw

37.

38.

39.

less than and greater than ogives.

Marks No. of Students
0-10 2
10 - 20 8
20-30 12
30-40 16
40 -50 7
50 - 60 5

Explain the sources of human capital formation.

Differentiate between commercial and non-commercial sources of energy with

examples.

Answer any 2 questions from 39 to 41. Each carries 8 scores.

Calculate Mean Median and Mode from the following :

Class Frequency

0-20 4
20-40 7

40 - 60 10

60 — 80 14

80 -100 8
100 — 120 5
120 — 140 2

(2 x8=16)

40. Define Sustainable Development. Explain the various strategies for Sustainable

41.

Development.

Explain various policies and programmes implemented in India for poverty eradication.
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36. QU aldlau@I@d S0 MGldrdas eldla] 20899 @MEeNN). elrrepave i@
DJOVE®) QUEHETBUB QAUIQXHN)B>.

20308 | DG BHBOS af)ano
0-10 2

10-20 8

20-30 12

30-40 16

40 -50 7

50-60

37, ameuy me1wm o)allacsmoniong 2oalsasegedla] alluodladlee)d.

38.  ansmlempd@z 900lsemud alnemleRimo 99322 D0alsandd ag)arial mooilenss
QIY®RAVEBUB HBIAOBEN TVAGI@o )@

39 2)®08 41 AH0WBH ¢2103BSI08 aBO®BSIENC 2 af)GNOTM DOMOOAI®)d.

8 e®>038 ailo.. 2x8=16)
39, @oWwyo, AW, NIaORIBG0 af)aATFIQ HEMBNIBEN D :

PW @RI O
0-20 4

20-40 7

40 - 60 10

60 - 80 14

80 -100

100 - 120

120 - 140 2

40.  ayaudleald:avme afeaman” dldgalleed. cvaudleaila:rvmorimes allaflw
@603 ANudd]3:0160)d.

41.  3odlEMIdeIdRRMOBTIMIV] MHIDVIGE MSalLNSESIV alrLEI?:e8W]o aldlalos]
BO8W)o B3)0a) afldElB:B100)0.
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